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1 ' (@ St the function of cristac in itochondria. (1 mark)

') Tho diagram below represents a cellorganeli.

® ‘Name the part belled Y. - (1'mark)
()  State the function of the part abelled X. (1 mark)

2 Name the part of a flower that develops into : .
@ seed : - (1 mark)

®)  froit | - R (I' mark) -
3 ' ka) ~ Name two tissues i:;phnts which arethickeged thh fignin. (2 marks)
® Howismppm‘tmined-m.herbaceoué plants? | e
4 '(a)‘. Némé_ﬂwﬂuidmaf‘gproqmby'm‘ glnts. o
(b)  Whatis the role of sweat onthehuman skin? @ marks)

5 State two ways in which floating leaves of aquatic plants are adapted to gueous exchange.

(2 marks)
6 (@)  State three characteristics of Monera that are not found in other kingdoms.
{3 marks)
{b)  Name the elass to which a termite belongs. (1 mark)
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(8)  Name one defect of the circulatory system in humans. (1 mark)

() State three functions of blood other than transport. - (3 rparks)
8  State the role of vitamin C in humans. ' (@ marks)
.9 ‘(.a): : WAMMMmmWofmiwﬁs. (2 marks)
® Wht i the sgnificance of meiosi? | L @marks)
10 smﬂ»nnpamofuctwmpomeamongmemembeuofhngdommmu )
in smeﬂleroleofmmlmmdwhlmnbody ' © (1 mark)
12 Anmmcmmmupummmmemmmbemw
é'——f—MaCSS rod
- Thread
‘Sucrose solution
Visking tubing
Distiiled water
'l‘lnaetupwuleﬁfor:&()nihutu.
(3)  State the cxpected results. SR (1 mark)
()  Explain your answer in (a) sbove. (3 marks)
13 (a8 Inwhatforh:isenergystbredinmuscles? ' _ ' (1 mark)
o) State the eeommnc importance of anaerobic respiration in plants. (2 marks)
14 (2) Distinguish between epigeal and hypogeal germination. (1 mark)
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15

16

17

20

Whyisoxygenneceuary'ihtlwgermimtiondfu!eds? (2 marks)

(®)

Explain continental drift as an evidence of cvolution. . (3 marks)
What is the importance of the following in an ecosystem? (2 marks)
(8) Decomposers. |
(b)  Predation.

(a)  Distinguish between the terms homodont and heterodont. " (1 mark)
(b))  Whatis thic function of camassial teeth? - (1 mark)

(). A certainiaimdl ’.',..nomc:mnocnnmesﬁptmhnndsmolmmmuppmaw
~ lnthelowuji&dwmmﬁmmsﬂwm«jp«mohnmﬁmohn. '

Write iy dooal fornmla. C (imad)
® Shhmfmhonsofbﬂejmcemﬂzedlgesmnoffood. o éinatks)A
® How doeg mbctrate ooncenu'ttion aﬂ‘ect the rate of myme action_? . a M) R
(8)  Explain how the following prevent self-pollination: ,

() protoandy | S (1 mark)

@ seltserilty, (1 mark)
(b)  Give three advantages of __cmu-pollmation. 3 marks)

())  What name is given to response to contact wnh surface exhibited by tendnls and
' climbing stems in plants? ' (1 mark)
(®)  State three biological importance of tropisms to plants. (3 marks)
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21 | mdiagrambebwrep!muareﬂexmmhm
oo
&

@  Name the parts labelled X and Y.

(v mnﬂu)'

®) Nmmmﬂmbmpmiemmmmqﬁnimpuhemme

synapse. (1 mark)

22 (@ State the function of the ciliary muscles in the buman eye. - (1 mark)
(b) - State two functional differences between the rods and cones in the human eye.
o L R ' (2 marks)

23 State the function of each of the following parts of buman ear. (4 marks)

(a)  Ear ossicles.
"(®)  Cochiea.

()  Semi-circular canals.

(@  Eustachian tube.
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24 .Sﬁtelourwaysinwhichrespim«ymfieqsmmitedtotheirfuncﬁon. (4 marks)

25 (a) Adogwe:gbmg152kgrequuu216k1whlleamouuwmghm3503requm2736k1
per day; Explain. 4 (2 marks)

(b) Whatis the end-pmdnm of respmuon in animals when there is insufficient oxygen
supply? (1 mark)

26 The chartbélow reprosents a simplified nitrogen cycle.

. What is represented by X, Y and Z7 | (3 marks)

27 Name'the eﬁd—products of the light stage in photosynthesis. o (2 marks)
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23.4.2 Biology Paper 2 (231/2)
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SECHONA@OMS)
Mrmmqwmhﬁkmmmwespmided.

The diagram below represents bones at a joint found in the hind limb of a mammal,

® -

)

©’
(@

(©)

@

®)

©)

(i) Swethefpneﬁm’pfﬂw-éubméwin (P)(i) gﬁ;m._ _- (1 mark)
| Nmuzmwm:em;oinsﬁlebomsmscmathcjmnt G
émth;diﬂ’mebetweenbanmdsocketjomtandthemlllus(rawdmmedmgram
‘above, (1 mark)
'Name the stnmuteattheclbowllntperfomsme same funcuonastiwputeliam)

(
Name two disorders in humans caused by gene mutation. (2 marks)
Describe the following chromosomal mutations: (2 marks)

(i» inversion

(i) translocation.
In mice the allele for black fur is dominant to the allele for brown fur.
What percentage offspring would have brown fur from a cross between heterozygous
bluck mice and brown mice? Show your working.

Use letter B to represent the allele for black colour. (4 marks)
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L) Dwuncﬂuhbetweenpynmdofmmm pmuﬁqotbiqma .. (2 marks)

-

®) Giveﬁmmbrlasofmtyﬁmnmmphiclevdnmo&umnfoodchm

- (3 marks)

(3 MS)

() Descﬁbehowd»beukmmbemdmuﬁmingtupopn}mqhmm
4 Thedmmmmbwwmnuammmwmaghaplwm -

)

(b)

(©)

@

From which plant organ was the section obfaised? . - - -

 Give two reasons for your aiswer in (s) sbove.

Name the parts labelied J, K and L.

State two functions of the part labelled M.

s The diagram below mmsems a human foetus in a wierus,

™y
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o N-umwammfmmumwe |
. - Qmarks)

G Smdnd:ﬁmmemcommonofbloodﬁoundmmeveudswnedm(b)(x)

“above. (2 marks)

(c) Namemfeaumdm:nqmthemmlabeuedrcmymnmmncuon
: (2 marks)
(@  Swictheroleof the putlsbeledR T (mak

| oo '."T."j.".,mom; R
mmt — "fwwmmugmmum?wa
: : khmmwm&

. An wnmusedumin ﬁeeﬂher ma dmm
o W m dt m

. Shoot® - muwmmmmmmmamm
‘ _smc Apulhndwuhainm . R .
mmofmmmmmmmmmmnm

mmmnmmmmm

@ UmummmnmmumEdmw
v ) ' _ (amuks)
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0) mm-w;éngmofum,mm.smﬁmm 1 mark)

(
(i) Whuwouldbethcexmleng:hofmcbmchmmmwootAon
the 11th day? (1 mark)
(©)  Account for the results obtained in the experiment. (6 marks)
(@)  Why was shoot C included in the experiment? (1 mark)
(¢6)  What is the importance of gibberéllic acid in agriculture? (1 mark)
-(f): State two physiological ptocesmdutmbrouglnuhombythuppmof
gibberellic acid on plant.s (2 marks)
- Ducdbhg? mmm&wn the'soil 10'2he leaves in a tree..- (20 matks)
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23.4.3 Biology Paper 3 (231/3)
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eremmmeandbndexmberinthemmvfdedaﬂherop of this page.
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The photographs below are of bones obtained from the same region of a mammahan body.
Photographs labelled K are different views of the same bone while M and N are views of
different bones.

(3) - Name:the rogicu from whioh the bones worebtsised. . . ... (1 mark)

(®  Identify the bones. o . (3 marks)
K oo, i omeisesrsostonenssoerstaren, v
M ettt ereeeeseeesae e et et e oo .
N‘ "“;.“_""2,‘. ...... ;r;‘;;i-':.Jnsv.b.c&f abap sVeismersevee eeivee .y \bp At AL IALE LIV

© smummmmuofummmmiudx (3 marks)

() thmm&mmmmrmummof
bone K. ‘ (2 marks)

(o) Smduﬁm&mofhmhbdhdSndTmWofme(Zmuh)
£

o mmmummmmmv in the
photographs of bone K. (1 mark)
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® NmﬂnmmumxmﬁwpboWOfboneMmﬂRmthc
N photogmphofbmeN : (3marks)

2.‘ You are provnded with two pieces of plant material labelled specimen D. Usmg a

mlpdmaalnhaﬁvmyﬂnwgh&emddleofeachpmushownmthe
diagram below.

()
Line of cut

Placeoncpaecemthesoluuon labelledL;andthcothermsolunonlabeuedla
Allow the set up to stand for 30 minutes. .

(8  After30.minutes remove the picces and press each gently between the fingers.
(i) . Record your observations.

Li  cecrveerreressesessssnnsnessnsss s rasesssnsses e rereneenens (1 mark)
| La ................................................ (1 mark)
()  Examingthe pieces. ) T A ;
@, Rovond other cbservations esids those made i () () sbove, (3 marke)
(i)  Account for the observations in (a) (i) above. | . (5 marks)
()  Acoountfor the cheervaticain ) (above. (2 marks)

You are provided with three sets of secdlings labelied A,B and C. Examine then.

(8)  State the conditions under which cach set was grown. " (3 marks)
(®)  State four differences between the seedlings in set A and B.. (4 marks)
() @  Nemethe phenomenon exhibited by secdlifgs inoct B. - (1 mark)

: : - ’ e e e

(i) Givetmwhyplm:exhﬁthyhmmonmdin(c)(i).

abave, D - (1 mark)
(@) . Name the response cxhibited by the seodlings inset C. (1 mark)
(¢)  Explain how the response named in (d) above occurred. | (3 marks)
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